Name:

'SR

Dividing Decimals

N———

1 2
% 0.92 = 1000 } % 0.56 = 1000
4 5
0.088 = 10 0.76 = 100
7 8
0.43 = 100 0.93 = 1000
10 11
4.04 = 1000 0.24 =+ 10
13 14
0.24 = 100 9.3 - 100
16 17
0.55 = 10 49 = 10

12

15

18

Date:

0.069 = 100
0.074 = 10
9.9 = 100
55 + 10
7.8 = 10
7.3 = 100
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Date:

N——

Name:
[ Dividing Decimals
1 2
0.92 = 1000 0.56 <+ 1000
= 0.00092 = 0.00056
4 5
0.088 + 10 0.76 + 100
= 0.0088 = 0.0076
7 8
0.43 + 100 0.93 + 1000
= 0.0043 = 0.00093
10 11
4.04 + 1000 0.24 + 10
= 0.00404 = 0.024
13 14
0.24 + 100 9.3 + 100
= 0.0024 = 0.093
16 17
0.55 = 10 49 + 10
= 0.055 = 0.49

0.069 =+ 100

= 0.00069

0.074 + 10

= 0.0074

9.9 = 100

= 0.099

12
55 + 10

= 0.55

15
7.8 - 10

= 0.78

18
7.3 = 100

= 0.073
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